
BraidPlot@CollapseBraid � Hb = Double� BR@Knot@"8_15"DDLD

KnotTheory::credits : The minimum braids representing the knots with ¼ by Thomas Gittings. See arXiv:math.GT�0401051.

Timing@Homf@b, 7DD

Homf at BR@8, 8-2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, -6, -7, -5, -6, -4, -5, -3,

-4, -4, -5, -3, -4, -4, -5, -3, -4, -6, -7, -5, -6, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1<D, 7

Computed hm, time is 21.154

Computed out, time is 95.785
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Timing@Homf@b, 7DD



Homf at BR@8, 8-2, -3, -1, -2, -2, -3, -1, -2, 4, 3, 5, 4, -2, -3, -1, -2, -6, -7, -5, -6, -4, -5, -3,

-4, -4, -5, -3, -4, -4, -5, -3, -4, -6, -7, -5, -6, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1<D, 7

Computed hm, time is 17.644

Computed out, time is 29.531
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Old Stuff :

Homf@BR@n_, l_D, k_D := Expand@Normal@Print@"Homf at ", BR@n, lD, ", ", kD;
Fold@Map@Expand, Dot@ð1, HeckeMatrix@n, ð2DD, 81<D &,

SparseArray@881< ® 1<, 8n!<D, lD.ClosureMatrix@n, 1D.ClosureMatrix@n - 1, k - 1D
DD �. d ® H1 �v - vL �z �� Expand;

Homf@b_BRD := Homf@b, First� b - 1D;

2   Homftimization.nb


